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study history, you

(2) think

-

My , mother
(1) is 1eadlng

that all storjeg of success are also T
) will find

SLoTies of greq fail
1

the newspaper in the Morning,
was reading (3)

e

In

11“ pollce

of my life.

Jm had

(1) are

reads (4)  will be reading
Lover feel that I am superior anyone
a ;
(&) to (3) for (4) on
P
arrested the thieyeg,
has (2) have @3) s (4) are
%ﬂways listen to great speeches carefully so that implement them in every walk
(2)  was (3) am (4) can
Theteacher ____ completed this chapter.
@) s (3) have

7. India is
(1) a, an

country. Every Indian is

)4,)* has
7

icon in helping the poor people.

9. lhavedonea_

/(2) an, a 3) a,the (4)  of, the
8. Rahuland his frlends — invited to the party by me.
(1) is ))’ have been (3) was (4) had
deal of work.
(1) big })‘ great (3) huge (4) enormous

7

10. A pair of socks

)}0 has

been missing from my room.

(2) have (3) is

(4) are

11 She

has been resting
s resting

I cannot disturb her now.

(2) had been resting
(4) wasresting

12.  People often
(1)  mistaken

games for sports and sports for games.
mistake

(4) mistook

13.

(1) will make

34563-C/ ET

i (2) mistaking g%)
I__ anappointment with the do¢tor soon.

(2) had made am making

(4) was making
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14. Either of the foot paths ____ to Superintendent's house.
(1) lead (2) leads /5) have led . (4) isled

15. = Back in miy native place, we ____ good internet.
(1) doesnothave (2) wasnothave (3) did nothave (}4 had not have

16. The antonym of "opaque" is

(1) Fragile Partial

(3) Transparent (4) Broken
17.  Either Maya or her friend Manju responsible for the picnic plan.

(1) are /(Z) was 3 is (4) were
18. We two daughters.

(1) will have (2) has )3) have (4) having
19. Radha and Rima business parfners.

(1) are () is /?3) was (4) had been
20. The synonym of "hard" is

(1) beautiful (2) firm )3!) soft (4) weak

Read the passage below and answer the questuﬁs (21-25).

Ms. Yanada recalls all too clearly that mid-summer day in 1945 when US warplanes dropped an atomic
bomb in Hiroshima. A second atom bomb was dropped by the USA on the southwestern city of
Nagasaki three days later, forcmg Japan to surrender to the allied forces and bringing the Pacific war to
an end. More than 1,40,000 people were killed instantly after the nuclear blasts and many more died in
the months and years after. Victims continue to die each year from cancer and radiation-linked illnesses.
Today Ms. Yanada is part of a group called Japan Confederation of A & H Bomb Sufferers, made up of
survivors like her struggling for a fair deal in life. In Japan, a vast number of people are still lobbying the
government to give them the status they have been denied for so long. Ms. Yanada’s group make:
frequent visits to the offices of the influential members of the district.

21. people were killed instantly after the nuclear bomb blast.
(1) Only 1,40,000 )  More than 1,40,000
(3) Lessthan1,40,000 _ (4) None of the above
22. Japan was forced to surtender after the bomb.
(1)  first (/23 second (3) third @) fourth

23.  Victims of the atom bomb blast in Japan continue to die of
)  Cancer.

(2) Radiation-linked diseases.
(3) Both cancer and radiation linked diseases.
3. (4) Neither cancer nor radiation linked diseases.

| TR 4 L




. The US dropped
25 h ppe ~—————— on Hiroshima,

W one bomb ( two bombs (3) three bombs (4) four bombs

26. If 15th August 2022 s Monday, then the date on Monday which immediately comes after
15th August 2024 js

2022 5 BodSefyBo estsS 15 5 B4 RSST60 0nd
RES0a"60 ) BES 55306F 8 BA

, 2024 & SoHefdo esf® 15 esoeges SoeoI S

/m 20 (@ 17 (@) 18 @ 1
E
27. I (256)2 X (16)45 + (64)16 = 4K, then 5K + 4 =
2.8 3¢ (256)25 x (16)45 + (64)16 = 4K o, 5K + 4 =
1 70 () 65 @) 75 (4) 100

If LCM and HCF of two numbers x and y are L and H respectively, then

28.
x 5005 y @0 Dogyge Bk, &. . th. H980kw . A, 2. en SEB L 538050 H eson, EGN=S

(2 =xy=L+H () x+L=y+H @4 Y=1H

T
< |~

1)

29. A train is crossing a platform of length 200 meters in 45 seconds and man standing on the platform
in 25 seconds. If a man moves in the direction of the train with a speed of 2 meters per second, then

the time taken by the train to cross him is
» 1
@) 311 seconds 3) 335 seconds 4 19 % secdinds
4

(1) 202 seconds
% o gplrdods uf Pev 45 RIS, FEXTo p V0D & S8V 25 S®

&
200 3)6-)((5}) "Z’; gt  aseBod BAS® LS Botd Dotsd Stfoss® SEOR® 063, 05D Tresedd
Tréneod. 2 A
BenH HE§ HSoodo 1 2
B R (@) 192 Rsegsy

31% R8og

(1)

20_‘? Do 2
6

T
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A is thrice efficient than B. To finish a job independently, the difference of the days they take is 60,

30.
1 ini i
If both of them work together and complete Erd of the work and remaining work is done by B
alone, the total number of days they took to complete the work is . .
B S0t A farchs Bep oo esgyanths. srEd Kgdogorm 508 T8 w8 HID 1Y BY, 08 B
Eeve o 60. SO KB 63 3D L5 amto H2D 4rg Bd 2OS HID B o8 3Y, @ 63
3
*8 OIS 008 DEIS 2oddo Bere Sogg
a 75 2 70 @) 675 4) 725
1. 45(30f§+6—1x3—15- -
3 6 2 .7 14
(1) 286 2 572 3) 352 (4) 248
32.  In the given four digit number 3x57 and in the number formed by writing the digits of the giver
number in reverse order, the difference of the place values of x is
S TeidH wo3e Qopg 3x57 %S, NS Dopgs®A eoderdy BEAD o SFy Dopgd® -
A, JoS JewHer 3¢50
(1) 1000 2) 190 3) 90 4 10
33.

The average weight of a group of men is 77.5 kgs. The average weight of a group of women i

70 kgs. The average weight of all the persons of both groups is 74 kgs. The ratio of the number ¢
men and women in the two groups is

28 QDO JBaredro @) STHB 2285 77.5 kgs. 28 R DHrEro B, Ko 28 70 ke
BotdH HBasesere55) éggaej DoE00 228N 74 kgs. &3 Both Sdoswdserdst &) DD Sogyg b ’g'
Qopge AN

1) 5:6 2) 8:7 /(}; 12:17 @ 10:13

34.

The wages of 3 boys are equal to the waggs of 2 men. The amount of work done by 3 men is lleqtlel
to the amount of work done by 5 boys. If 40 boys and 15 men worked for 8 weeks to con;p E; "
work and the total wages they got are equal to Rs.12,600 then the wages 20 boys and 20 men g

complete that work is (in rupees) . onth &
é_u(é)do 23°e8 2880 'acQSd) e BEr8 HSSo. ém(‘;b& HBRLN BADY @otHitHth e

HIG BBPS0. 28 HAIV Arf SoHEAE $oP Db wrent, DA Db Hhipe 8 TR
B £B0K 6> 8R0S deko Broefo 12,600 Grarasen wond, e HID {rg Bodeds 20
2t B8 H08 phpen Brod Bdo (Erarchd’)

(1) 12,285 }z) 12,730 (3) 24,570 4) 12570

3

7 Qi
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o of length 17 meters is cut into two parts. With one part a square and with another part an
35. A “;;;r:teeral triangle are made. If the area of the S
¢ equl

17 oo &G 50 28 BID Toths Zrmmenms 5o, 20 iod® S0, HBBNE g3otfodst
.‘6&’»93":’:’ BEHBBN SASED DA, Seky 5 Swego A S| ety S0¢08%eS B gbeog), B = 2A
o, 5830, BzHastine ;_Sab@ge) :):‘ng

1 8:9 @ 16V3:2 @) 12:13 @)  16:12+/3

36. If 123 more articles can be bought by Spending a certain amount when the price of an article is

1
decreased by 335% » then the number of artic|

©S one could have been bought without discount for
the same amount is

1
éé)é)o 585 333—% E§Qo:5(‘.§o 5%) §oe$ Seze)

1) 369 (2) 246

37. Pipe A_ alone can fill a tank in 24 minutes, Pipe B alone can fil] the same tank in 36 minutes. Pipe A
alone is opened for x minutes and Pipe

B alone is o d £ inutes to fj i
30 minutes Then | S it pened for y minutes to fill the tank in
&0 A 20863 2,8 FED 24 dperess NoDdHees, &ey

8123 SvHewn VEN,S KD, en S SN ¢565e5°

B) 123 4 492

4 5 &0 B 2.8 63 2,5 FE 36 Ddperest QoDd5eress.
DD A 256 x ddoapern, D By ddoren 5332 TG 30 Ddayerest QoJran. e | x— |=
(RDres) i

1M 12 @ 10 @) 8 @ 6

38. The fraction equivalent to 2.55 is
257 & NSNRELIRIES AR

232 257
M =2 (@), 22 @ 7 @ 27
29 90 90 So5s
39. Ina cylindrical vessel of height 14 cm and radius 5 €M, seven sphereg of radius 3 cm were kept.
€ amount of water that fills the cylindrical vessel is (in cubjc cm)
R0, B 0 2, 5 Bo. & © amgAigo o HrTOLY dreges 5 D020 Srgaeto e Hes> Femen
&SRS, g RIEPSPEY gt Ao e HOSE0 (K. Do, 8, oSt
[+ S~
() 308 2) 452 3) 336 @ ta1s
10. The ratios of the ages of two persons before 6 years ang after 6 years are 3 : 8 and 7 : 12
Tespectively. Their present ages respectively are )
6 Bosegyomer Boeses, 6 BoseyTre eomges BEO SaHye N Sthsem 3« g S8as 7 : 12. 08
oes NoHB0yen SEITP
@) 15,30
Vux  @mm 00y o
34563.C / oy 7 T



15 ) _
C a1 2(?/—/%114(5"3\/’3’2‘]”

2) 15 3

20 (4) 25

{ B enter into a Pm-merShi}z by lnvesting Rs. 24,000 e
A anc t from A at the rate of 10% per annum To look
ammtlll]]ﬁq salary. At the end of the year, if B’s in,
mol.‘ as Sc¢

ach. But B has borrowed his investment
e 42 after the business, B will be paid Rs. 120 per

€ome is half of the income of A, then the total profit

(2 9,660 8 B errcgront Qtfo @and, Inego erzfo
1) 10,080 ®) 12,000

4) 12,060
43. Ratio of A’s last year salary and current Year sa

. lary is 4 . 5, wh : -

salaries of B is 2 : 3. The ratio of t'he.last year salaries of A ftr%aist};e-rztllof Of’ the similar type 9f
Rs. 25,600, then A’s last year salary is (in Rupees) + 4. If B's present salary is
A Bng), §ocsed $oENE B0 HBasn B

2:3. A 005 B © §065€3 Sosesys . 2

94 B Ry aw
A Bwg), Me$ Bode5H8 Beso (cs@:svoswm & RS BeSo Rs. 25,600 evonad
(1) 12,800 (2) 16,000

45,

In a day the number of times both the hands of a clock coincide is
28 8%6° KA a55065°) Bocks S00gnen 2.8TTeESP 2,563 DRNIES DELSDY B e Sogpg

1§ 24 @ 23 (B) 11 @ 22

46. » B which are separated by 300 meters and moves towards each
other with speeds 10 kmph and 5 kmph respectively. From A one travels a distance of x meters

and then both of them interchanged their speeds to 5 kmph & 10 kmph respectively. If both of
them meet each other exactly at the center, then x =

300 Qe ESPBoS® ey Boks Dothshen A S5805 B o 56 QB> DI SEOIe HoerH 10 8.2
B0 5 8.2, Irod® w0 Jo® BoEEE BASTEIe Incendird. A H0d 285 ngaeaga
SASreBodD Sharel RNt AR HEHGo T0 Sress ot 5 8.8, $06c» 10 8. 0%
NBENHDITNG. o8 [EE® PNSore 55(5856 £05, e x =

(1) 50 (2) 100 @) 75 @) 475

34563-C / ET 8 LT



48.

49.

50.

hopkeeper bought each packet of 12 articles for Rs.51 and sold them as a packet of 15 arhclesw
A sho >

 he ge i 90, the number of articles he sold is
\ach for Rs. 71.25. If he gets a profit of Rs.90, i
%n{; égpmo g3 Rs. 51 3t TS D aredd 15 Sxppe drgaepmr B3, 80 g3
gq 71.25 8en TS 208 SEDHE 085, eS8 Rs, 9() erglo 59), e YD SHe Sopg
) %0 () 270 (3) 180 @ 120

- i i ter
On a certain principal amount at the rate of 29 per quarter of an year the simple interest afte

24 months is Rs. 960. Then the principal amount is
(1) Rs.7,000 (2) Rs. 5,000 (3) Rs. 6,000 (4) Rs.8,000 o
Eves @den D HA Burcd JwoH 2% TN, 24 JeeH wond 6 $& 960 SrarafHen. ey

QQR')QD Boogo
(1) & 7,000 2)  &v. 5,000 B) &, 6,000 4) &, 8,000

The marked price of an article is Rs. 800 and a customer buys it for Rs. 612 after two :s;ucc.essive
discounts. If the discount offered at the second time is 15%, then the discount offered at first is

800 Erarohen BEAS (6 e a8 55% DIRIETeEs SHEIT Botd A Teond Arotitio trgoe
Rs. 612 0% o, Bt 378 270873 0rond 15% wand, Zndiaes 2rods orond
1 12% 2 11% 3) 20% (4) 10%

percentages for three years, the difference of the compound interest and simple interest is Rs. 580,
Then the principal amount is (in rupees) »

o8 g SEHGS Sxide 30%, 20% 0005 10% S Saredy Stod QoS TP 75g0E88,
03 Iog) Hury SoSSyorers 2R I 8§ ware o0 3G TEE wrth $E8 5 SESG,
2rSGe FeSo &, 580, wondd O e Inelo (Srarabed?)

(1) 5,000 (2) 6,000 (3) 6,500 (4) 5,500

51

52,

The force between charged particles is called

(1)  Electron Magnetic Force (2)  Strong Nuclear Force
(3) Gravitational Force (4) Weak Nuclear Force
8328 S Dogss el 2erdy) ©OLT%.

(1) DeEsE8aImod weo /21 (P2 o8 aeo

(B) HoTELe aeo (4) S8 Sos weo

An electron moving in a straight line enters into a non-zero magnetic field and goes undeviated.
The angle between the direction of its motion and magnetic field is

28 QOFIS J6¢ 8o Sro o HAFBIP ISeSo Bodom ©OHAY0es 5ot P30,
S% BFS BBt a0 FEPIS 3¢Sy ey Seao

7X 0° 2) 30° 3) 45° @  90°

M563-C/ ET. 9 [



\, 53.  The mosquito repellent used at the home in the form of a cs)i.l, liquid Eti is e
| 1)  Sedati (2) DPesticide (3) Insecticide (4)
o -y 2 FoBBS Erared® TL0

s 8y o 8550 tfyisted® S8 (coil), 55
(1) Soekodoots 2) Db Swoth /p) 820504550

54. Which of the following compound is present in bacterial cell, plant cell
(1) Cellulose (2) Histones

(3) Non-histone proteins @ Phospholids
61 8ob 06" D SysiEy (compound) erglBat Sraoss, Bk, Kea0d® BN oo Ee0S”

(4) DO

and also in animal cell ?

5o &otod ?

_ /17 Rergs’S (2)  Segsdoen
73 ST grlsen (4)  DRWHNOG

55. Match the following lists.

List I List IT
(A) Chandrayan (D India's first lunar probe
(B) Mangalyan (I) India's first inter planetary mission
(C) Astrosat (HI) India's first space observatory
& 08 DSV BSDCSC.
088 1 00 11
A
(B ) SoaieS ) 08350 Qw8 Intmnss Soa B $08ES ety
((C )) &;ﬁé-‘fs (I)  #58850 Gy IS @osb (K RS
ez
& (II) gr88E50 o) LIS oS $B8eY SolBo (025::8)

The correct answer is / K0 @008 JSreeSSw.

/(4) (4) - (1), (B) - (111), (C) - (11)
(@ (A)- (1), (B) - (), (C) - (m)
(3 (A)- (1), (B) - 1), (C) - 1)
@ (&) -, ®)-, (- m)

56.  Boiling Point of Water in Kelvin Scale is
es Q) eSS APRED 8O S5 5nes

1) 100 2 27315 3 0 (4) 37315

7. Which of the following contains CFC ?
(1) Vamish (2) Wall paint (3) Refrigerant (4)  Aerated drink
CFC e90€3 &3 808 ade5® (X JoleRINTA)

1) =R (2) 8%e 2awods (Wall paint) /z) WOKEB (1)  rO&’ LB Do
/=

1563-C/ ET 10 I



T e VA L =

: ted ?
58. Inwhich of the followine . Bl (N CFL) loca
& Clties is the Nationa] Cyber Forensic Laboratory Hyderaba d

Sa) . ;:ha;\dliarh () Bangalore (3) Chennai 4)
BO0 BIWES BHSEneos® Suss 205 005 Sedern (NCFL) St a5 ?

“i/(//

59. The escape velocity on the surface of the earth is
gl H0S00D Herahis Fesa e

’ 9km/s
(1) 9.8 km/S (2) 112 km/s (3) 19.6 km/s (4) 49 m/
60. Match the following lists.
e . List - II
mineral component of) (Mineral function)
. o (I)  Redox reactions
()| Easthryaiim (I) Maintains ribosome structure
(©) Middle lamellae (III) Stabilizes protein structure
(é?)g &(sjble(;rs’op,égyug PIE (IV) Formation of mitotic spindle
20 o)u (3] 23 K) oCs.
S -1 S8 -1
(95030e080) (2230 B, Q)
(A) OEBNS () gase8ys8es S63
(B) FADIS () B5"Soe dovEaRy DEGEF&00
(C) HoESgHedDE (I) 288 NoEaRYy JEHEZH
D) 66 (IV) 5525255 SoB Sasrb
The correct answer is / 58 @0 JS85ERRHS0.
(A) (B) (© (D)
1 @m @) am @
@ @ @ @) db
@3 @) @ @ 1)
@ @ @y @) @O
i ?
61. Which gas leaked during Bhopal gas tragedy in 19847
(2) Ethane
) Methane (4) Ethyl Alcohol
(3)  Methyl Isocyanate(MIC) AT
' eaked) oo
1984 ¢5* 200 & 7030 csag,azsess DS D ?
@ o8
1) DB
(4) RS BvrSS
(3) S VR

. LT
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62.  Match the following lists.

2y

List- 1 List - II
(Bio fortification) (Available in)
(A) Vitamin C (I) Maize
(B) Mineral (Il) Wheat
(C) Protein (Ill) Pumpkin
(D) Vitamin A (IV) Spinach
(V) Bitter gourd
& 800 a’a@gemﬁa e3¢5 S0,
YL -1 538 - 11
(23 e055550) (586" vdora)
(A)  DeS-C D) oG
(B) &dessio () &%
Q) &% (1) thrSpaseash
(D)  JeoS-A (IV) degrs
(V) =88
The correct answer is / %8 @013 QDSErLrSSw.
(A) (B) (O (D)
1) a@ @v) an
(@ (V) @) @
@ V) @) @
@ @v) a am (1
63. Which of the following is an operating system ?
(1) Oracle (2) Java (3) Winrunner (4) Linux
& (8o TBS° ©ITHOR 1YD (operating system) H& ?
(1) aoedes (2) e (Java) (B) DS 6H6 /A) 8355y
64. Unburnt carbon particles cause the following problem
(1) Cardiac problems (2) Skin infection
(3) Throat infection (4) Respiratory problems
s*od (Unburnt) s7)S Seoiiwen & (Bob Sk seEmsn
(1) Dok Bo20fHodS Koy (2) Sto @oen FogA (Dogea)
(3) Toeh eotn JogA (Hogsdoes) @) g0 Sg50 Ddoidg
34563-C/ ET 12 A



e 0°8 0065 TBS® 6302 Sy Sergren dsperon ?

1 IC r
(1) 2" ), AN 28 ayrpers BAEBoSerHB00

(2) 'S Dof0H Krboes* ), W), B8 ermels BT ool
SToET Basetheed

(3) P R Seerero T ooty orgoe e S, ), g
d‘)m@éjoa

(4) ‘N2’ oS B3 EreHoes® metay TRQOe ReSE g, AV oS :

66. Matc' ‘he following lists.

)\ : (ers) List 11

2 ki (Portfoliﬂ)

23 (A) Dr. Virendra Kumar () Heavy Industries

: (B) Dr. Mahendra Nath Pandey (I) Social Justice and empOW‘ffl’me“t
£ (C) Dr. Jitendra Singh (IIT) Science and Technology

A (é?)é gr.ggbghmgnyaméaishankar (IV) External Affairs

= 800 Hegod adddsSok.

i DY 1 SIS 11

4 (Soo(oen) (zow)

i (A) wE6 Dol HErE I orb BBEDL TP

(B) w6 LIoBTH Fod (1) FEras Toah DO PESEE TP
! (O wgd £8ol doh () 8) wok Ssned e SHEH
/ (D) ©%0 olpoesso adH$ogb (IV) 988 KPFFore g
; The correct answer/ 98 e90& EELALNEN Y

. (1) (A)- (D), (B) - (IV), © -1, (D)- (1)
0 (a)-0,6)-W©Q- O
: G) (A)- (), (B) - @ (C) - (D, (O)- (V)
E @ (a)- @, @)-0 () - (), (D) - (IV)
"‘ 67. gY C}? rﬂ;suming in large quantities, which of the following alcohol causes blindness and even
] eath 7
hanol (3) Propanol
; (1)  Ethanol (2) Met ) Butanol
: 8 8on G O weyded ©68 oogfskood” GG BOS woigin K38ty Brseaia K
50Z5D008 7 6 st

& (1) =656 ) eSS i @ ayests

13
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68.

The Constituents of German Silver (Alloy) are
(2) Ag Ni and Fe

(1) Cu, AgandZn
@) Cu Zn and Ni

(3) Fe, Auand Ni
23S Rexgh (o SriSw)S° eod &S50
(1) Cu, Ag 0050 Zn 2) Ag, Nidas» Fe

(3) Fe, Au &8as» Ni /(/1) Cu, Zn 58050 Ni

69.

Which of the following gases is released into the air by automobile exhaust ?

2308 & o) BB BnBS Hr0d JeDHE WARYYE© IO MOS8 BBrEH0e08 ?

(1) cCo }2) CO2 (3) SOz (4) NO»

70.

Which of the following fields does not have the Nobel Prize ?

(2) Literature (3) Physics (4) Mathematics

(1)  Economics

& 206 TIS° I5S w008 (Nobel Prize) O Sorgns® 8 ?

(1) 8870 /(2) PSR (3) &S TYo (4) ie3d TQo

How many pillars were identified under Digital India Program ?

GaeS moldir HESo (BXrD) Bod ) Jogredd (pillars) HBoDT#E: ?

m 3 @ 9 )3) 1 @ 5

72,

Natural Disaster Management Authority (NDMA) is headed by the

- (1) Health Minister (2)  Finance Minister

(3) Home Minister (4) Prime Minister
5% S5barge Ao Qo (NDMA) &3 808 a6 6905065° S0

1 &% S

i e °® ®) g war dolg
3 5 wgr S ,

®) e y’ QTN Sod
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" where
. Which type of ecologicq] ada row in conditions
temperature is 25°C 45,4 ”unfallp'taho“S are present in plants those &
(A)  Reduced leaf laming '© less than 25 em/year ?
(B) Deep rooteq root system
(©) Thin cuticle
(D) Well developeq Mechar: )
(E) Root pockets Present Anica] tissye
(F) We“ developeq aerenchym,
(G) Single layereq epidermjis =
&R0 25°C Sobasy, SE S0 25 v g £ BRehes® DOA I0HOS®
DUFO00 O8ETerryoey Sotroy, 2 Year 3m s o H
(A) §30D% DY S8y
(B) S amghoas 3, 5555
©) SR STy ®
(D) eseoe ©DHO Iods s Sererersy,
(E) S exden s0p &0éyoqy,
(F) esere es@éa@ DodS SoE0ye8 Severersy,
(G) 28 SED ey B eS
1) (B), (F), (G) (2 (D), (E), (G) )Z) (A), (B), (D) 4)  (A), (©), (E)
74, Match the following items in Ligt.] with corresponding items in List-II and choose the correct
answer.
List-I (Names of the Scientists) List-II (Major contribution)
: (A) Albert Einstein ) Discovery of Electron
: (B) C.V.Raman (I)  Quantum Statistics
(©) J.J. Thomson (III) Theory of Relativity
(D) S.N. Bose (IV) Inelastic scattering of light by molecules
& (0B erdee - 1 &89 womes DE° - II &0 $02068 womess 2EJBY, ¥BS SEereDRy
QOHE A, '
=0 - I (Sege DY) o - I (sd)g ©OFTTen)
(A) s m‘S%S M QOIS Do) ©DHBes
(B) 2.9. oS (I S:S-soéao Hesrol TR0
© =z.=. TENS - (III) g :o;éoéo 9
(D) 25.25. &% (;\;)D CRVOE 08 ©RBRBE Bodse
The correct answer is / %6 esooac‘?;z;")@‘ i :
() (&) - (m), (B) - (iv)(c(ﬁ Elgl),’(D) - @)
@ (A)-qav), B) -1, O - (1), ) - )
A @-am, -, © 601
7@ (A)-, @) - (
| 1 B
‘ |
E34563-C /ET
|
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ainly due to By
ulation and industrialization

75.  World energy needs are rising m
(1) Deforestation (2) Increasing pop
(3) Inflation (4) Natural calamities
BHocS 48 ) eSSTen S0agenT & (80D T S DEHETHOD
(1)  eEdHen wosdoddHBEo ) eder DBIHER $OD Salately
(3) &Sk () 890 FHberges
76. India signed an agreement to sell Brahmos supersonic cruise missile to__——— recently.
(1)  Ukraine (2) Srilanka (3) Philippines (4) Myanmar
2FYS Kr8HIE §3 B8 S8 8 2:53y050 BR0E0A.
(1) e&8owd 2) Beof B) 29 @) SoaHd
77.  Which one of the following statements is not correct about Jinnah, the Muslim League Leader?
(1) Jinnah played a very important role in the conclusion of Lucknow pact in 1916.
(2)  In 1929, Jinnah formulated fourteen points and made it clear that it was only on its basis t
unity between the Hindus and Muslims would be possible in future.
(3) He has nothing to do with the inception of Muslim league in 1906.
(4) Under the leadership of Jinnah the All India Muslim league passed a resolution at Lahore
the separate nation for Muslims in 1944.
&3 §08 HSSSHNS® B So5eSnh ©d 8T Sopofod %8596 (not correct) ?
/)}) 1916 @55 2:5)0t508° B8 S0g APE H2eoB.
Q) 1929 &° 14 KSoeggdooen RELAARAN eSS EDAGES 2mocircen 080D Snyow &
s08ges esocitiols DEBoB.
(3) 1906 Swxo &h S Q‘bozﬁéoé‘ DenSoes gk Sek.
(4) o qodosr Snjo &5 1944 B0 Bos® vFB &° BT TADEEID B85eB345000 Soogo
$BsE s Srol B Bo0uscEdn 230008,
78. In a certain code language ‘DOMAIN’ is written as ‘ALJXFK’. Then in the same code langu
‘RATION' is coded as
2.8 &% gees® 'DOMAIN’ & ‘ALJXFK' TR 08 &% gqeS® ‘RATION &), 5%
(1) OXQFLK }Zf OXPELK (3) KLFQXO (4) KLEPXO
79. Two entities are given to the left of :: and these are related in some way. One entity and 14
given to the right of :: . Select a suitable alternative to replace ‘?’ so as to keep the analogy-
BHSS 1 © ESHSDS 28 Do KoeooeR)) SONS Botd SJoesgainen (entities) '6?553’&
55005 i 6 HAFDS el SKodgEn (entity) B8 7 0. & Koorrdy seardety 7 o
OW)S° Qo0& ARYEW 258 BSaSod.
PEN:35:RAN:?
(1) 35 (2 32 (3 33 (9/ 36
34563-C/ ET 26 Tl
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'g0. Who married “Rudrq},
3 ugh
'(%g) - d;:;’ila Santamula 8hter of Saka King Rudrasena ?
. L NI SRS 4 M":\hariputra Virapurushadatta
(1) DS S Gogsa, §-§(o) Rudrapurusha Datta
0e$ Sasee, D56 DS oAS ?
(3) VS FoeESames el

Rajya Sabha only

(3) Both Raj 2 L
s o Jya Sabha and Lok Sappq 4) ok Sabha only
grrdes QDA Svod SE508 080 (4)  None of the above
4 S
(1) ovesg oeS Sy &(2) e
" ARSI
oresg 58S 0805w &% B @ 333; 5 S
DI S°

82. Inwhich ;
2. ich Qutub Shahi Sultan court Addanki Gangadhara Kavi was in

(1) Ibrahim-Quli-

o, i QQutubshah 2 Muhammad-Quli-Qutubshah
a -Qutubshah (4)  Abdullah Qutubshah

©¢5o8 (orresd £ o LHekeS AP KogrS eSS’ eoiio ?

1) =[Rvo - H - HeeSr 5056 - £ - HeeSar

(B) STB - HebeSr (4)  eopoge HSKHS

T T N R M AN

Who was the author of “Shiva Yoga Saram” a famous book of Kakatiya age ?

(1) Vidyanatha (2) Jayapasenani  (3) Kolanu Ganapatideva (4) Baddenna
se&Baine s°erdd S[06S 28BS0’ 3 o BeS00e8 DS ?
}lf) 3(:!"5(0"(‘35)(53 (2 230DDTR (3) o 53D RBHCEH @) 235
I 84, What is Metaverse ?
(1) Video Game
(2) Piece of puzzle o o
(3) Virtual World for people’s interactio
(4) Low Connectivity
Rer56y o3 S0 ?
1) dacw i %)
Q) o, S erde (92 9P °g p
g0 BT &850 SRS 800
@ oo £380¢3
F 7
1 \
y e A



85.  Match the following,
(Freefc(;om Figghters) (Nativc. States)
(a) Jayanarayan Vyas (i) Kashmir
(b) K. C.Reddy (i) Hyderabad
(€)  Premnath Bazaz (i) Mysore
(d) Ramananda Tirtha (iv) Jodhpur
8 808 T e3eEDBKHE.
(RegeSogs BriSHren) (Rogrssnen)
(@)  ecHarorabHes g ' (@) SN
(b) 8.2.38 (i) 3Zrsoverd
© B eerd (i) RDoRrb
(d) oosSocs &S « (iv) =5%B%rb
The correct answer is / 58 @018 SEFEoHISE0.
@ () (¢ (d
@ @ ) @) ()
@ Gv) () @) (i)
B @) () @) @)
}Q’) (iv) (i) @) (i)
86. Identify the Asafjahi ruler who ceded Kadapa, Kurnool, Bellari and Anantapur to East
Company.
(1) Nizam - ul - Mulk (2) Nizam - Ali - Khan
(3) Sikander - Jha (4) Afzal - ud - daula
&Ey) RGOS SoDAS KD, SES, e7)0 HHBEH wH0esrEodd YYD esc‘6§°§5° TPEICE) DN
(1) Neso - &S - S, dero - 0 - o
(3) 2% - Gar /(2 oHeer
87. Who was the First Indian to have dissected a dead body in modern time ?
(1) U.N. Brahmachari (2) U.N.Dutt
(3 K.N.Das (4) Madusudan Gupta
365008 sP006° FaeR)) ERSend0ed (Dissected) S)B05e3 ROEODHS S5Es ?
(1) aso. S, aoos‘g_avb (2) oS0 I &S
5;6 3. dS. R 4) DRSS o
88. Where did the ‘Mahboob-Shahi Mills’ founded in 1884 located ?
(1) Hyderabad (2 Gulbarga (3) Nanded (4) Warangal
1884 & DoS)50B® FodS ‘oireard o QY A;¢8 FoQKBI esod ?
7 tsorers 2) toeng (B) ~d& 4)  SotS
24565-C/ET 1 T




89.

Using this notation
ABBmeans A +~ B
A©Bmeans A +B

A®B means A —B

A©B means A x B

A® B means BA
((7®30609D3)® -
&3 DogPiSo GHRrA0Y
A®B o3 A+B

AOB o3 A +B

A®B @063 A -B

A©B o3 A XB

A® B evoé3 BA
570306Q9D3)B 2=
1) 194 2 104 G 1®4

@) 4@1

90.

Who discovered rock art sites at Bhimbetka ?

(;) A.C.L. Carllfeye (2) V.S.Wakankar
(3) H.D. Sankalia (49 M.L.K. Murthy
HEBEr) SN B DY Forinoh EHFGHO S5 ?

/(,1’) . 2.6, 59 (Carlleye) 2) . 0. Fse08d
(3)

3) IS, &. HosedAse 4) ofo. S . 8. S

92. Two entities are given t

91.

“Communal harmony could not be permanently established in our country so long as
highly distorted versions of history were taught in her schools and colleges, through the history

text books.” Who among the following said this?
(2) Mahatma Gandhi

(1)  Ravindranath Tagore

(3) Dr.Sarvepalli Radhakrishnan (4) Jawaharlal Nehru

“FrsTreren SO o0 580000 S0 JoBowen EALARWEEL R EY FE(Sorr & B06FE)
066?

FAosTon”, & T§ARHAD & 206 T°0S° I
(1) 6Dog>H oorird (2) DTy ™od
p’f &, 2BHY TTHFD () @376 S o

o the left of :: and the.se are related in some way. One entity and ‘?’ are
.Selecta suitable alternative to replace ?’so as to keep the analogy .

5 g8 Qs P00l SOOY Botd SKoesgsnen (entities) BHBEBD
(entity) 8 °7' S0D. & Sozorrdy savaesty 7 .sf QS

given to the right of
BNDS & HEDFD
S0 = & HEPDS 2w SPE
DAyse o PSR #8 BaHods.

FLAME : UOZNV :: BRING : ? :

(1)  YIRMT Jﬂs/’(_)

Y v
JRNU 4)  YJQMS

M563.C/ T P L




. is son of B. M
93. Mis son of A, R is daughter of V, S is sister of M and R. B is married to S and Kis s M
only brother of S and R. L is daughter of R. Then L is related to A as !
(1)  Daughter-in-law (2) Daughter (3) Grand daughter (4) Aun‘/ s
A@n%&ésvd)doM,Vcﬁméz,ésng,M;&odgnRogﬁcﬁﬁS.Bé)SéGZ)a‘:oJ"O b
B &g, ©&reh K. S &80 R © D3 dscschess M. R G3ng), 53 L. @i A t

8008 8y

No2voctso
/(1') §%en (2) e (B) SordoSoTren /\}4') o [SRY
94.  Which Velama Royal Family Women constructed the “Nagasamudram Tank” ?
(1) Nagamallika (2) Nagaladevi (3) - Nagambika (4) Nagasree
S300°23 £81023°D8 F0BS D [odyes 'mm:smgo By’ DGR ?
(1) 6 /(Z) 3D B) ~medE (4) ~oU3
7
95. Ghughua Fossil Park is located in
(I) Tamil Nadu (2) Rajasthan (3) Madhya Pradesh (4) Chhattisgarh
(b erees o6), S° JoFenedss.
(1)  SDafarcs }2’ CoasrS @) Soesg 555 @ &%
96.  The Farman of founding the Osmania University was issued by Osman - Ali - Khan on
1) 24t April, 1917 (2) 26t April, 1917
(3) 29th August, 1917 (4 17thGep,, 1918
SRS IR FDR &S ewdarS Do 228 B[ T
(1) 24 DD, 1917 ) 26 S, 1917
() 29 esrfdo, 1917 (4) 1733036, 1918

97.  Which of the following statements is not correct about Arthasastra ?

(1) It opens with the auspicious symbol of ‘om’.
(2) A pandit of Tanjore district handed over manuscript of Arthasastra to R. Shamasastry,

librarian of Mysore Government oriental library in 1905.
(3) ~ It does not contain any reference to Mauryas, their empire, Chandragupta or Pataliputra.

(4) It consists of 16 books (Adhikaranas).
OGFRYBNILD Sowodod &2 ob TE3S° DO B0 @oN[ENB0e (HHS5EH (statement) seeks ?

(1) 2O DIBANS ‘Lsady’ t0thed ArBozs5rHesod
(2) 1905 BoSehyos® b Hahesy 2.00000S BnBS® HIJHE) R. TYETYE e

PR ATN)
208 Dol famgo Bu), Fods DB 0533,
S3ge> tHB0D) 52, 8 Aeyresgo (HBoD 5N, oty SBas DS HB0D 50

D64 9B HI VoSS,
(4) =ab 16 ed86eadnent (books) DESBoD2G08.

@ HTHawig
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o8, The Venn diagram r
98 Drivers of mo%(l;r ve:ig:ss .
Drivers of 3 wheelers, dri'
Drivers of the school van
B5oeed ST 08 SA D,

3 5570 TSPTCOR SA S
. ~ d), 4 SO (v
559, S S SADI. HOY 4 :'i'ae;g‘fg;‘”& BEDE,

69 @ 6o
@ (2 (3) ”/

99. \fhlc};\(;ne ;:; .the fql!?wmg statement is not correct regarding Delhi Sultanate ?
(1) auddin Khilji separated religion from politics
(2) Mohd. Bin Tughlaq imposed a ban on “Sati’ conélemning it as an unfair practice:
(3) F}r(.)zshah Tughlaq imposed ‘Jizya’ even on Brahmans.
(4) Sikinder Lodi exempted the collection of Jizya on Hindus.
B8 Boerire BoroBoDBoSSES 6 §od FE3E® DO B8 oS00 TR (statement) 5 €

oresfasre Sod Soed)) wgradS HO DB

vers of 4 wheelers,

4)

) 58 omegaHPd emmid ol Siiriyh BS ey o DABoBH.
B) EES 3 S sP00S’ BBahr HIPS FrgreD LT SBven SasHcso 220008.
@) 2BoSE S 57008 IrothiHeR BB HBYPD WIHFWOT.
' 100. What is the vaccine given usually to children in the age group of 5t0157?
(1) Malaria (2) Measles-Rubella
(3) Intravenous Polio Vaccine (4) Diphtheria
D5 [500D) JBSES G SAH0 YD Sogredeaot FL) apsgb.s 587
1) SoB60w Q) DIy - ErBY
/(Z) FotrDSS BOB TFED @) aHocse

101. Identify the Shankarachrya’s four headquarters of monasteries.
(1) Kanchi, Sringeri, Dwaraka and Purt :
(2) Puri, Badrinarayana, Kanchi and Sringerl
(3) Puri, Kanchi, Sringeri and Dwaraka e

4 i ana, Sringeri, and 'ufl

(4) Dwaraka, Badrinaray A égoevo S BoSHNess Hoss.

FoSoraretgdL ;gvg’.:oéa)&:é Jren
(1) Sod, £50B0, Ggss Moo 0
2) %r8, fseoroes, Sod So8050 o0
(B) %10, 50D, Ay SO0 TSBE

i TPQEE, 208Te00ES, #0180 258050 J°0

34563. a8
C/ET R




T S VTSR AP, B A

102. N
dVheet Kaur, the player in recent news is associated with

(1) Football (2) Hockey (3) Wrestling () Tennis
2e8Sey TG SQNS S5DE 6 D drsoBed 2
.

1) HS e (2) S8 3) &% )ﬁ* 82)°
103. Who appoints the Supreme Court judges ?

(1)  Prime Minister (2)  Attorney General

(3)  Vice President (4) President

Rogo % Sganitaress JaHoSa A3 ?

1) o8 Svo@ /(/2) érd) 23566

B) &5 O°908H 4) SRSREC

104. Select the one of the alternatives, which is different from the other three alternatives.
BN DAY Ko, 2,88 OOS Kardod R00& Dot &oierty ol T ISYEHE.

(1) DHLP (2) EIMQ ) LPIX 4) AEIO
105. Which of the following has 5 time zones ?

(1) Canada (2) Sweden (3) India (4) China

& (Bob BS° B8 5 $iad okeren Ko ?

1) 33w (2)  dged )3') L ISERM 4 B
106. Smallpox is caused by

(1)  Ebola virus (2) Variola virus

(3) Herpes Simplex virus (4) Influenza virus

203D & Fod DOS D) 0

()J deS’er D65 (2) Dot PO

(B)  3yS oSy D6S (4) =SHdox DED

107. The North Atlantic Treaty Organization (NATO) is an alliance of countries from
(1) Europe and North America (V4] Eur(?pe
(3) Europe and South America (4) Baltic States
8 e0groedS 368 e 3HRS (a065°) &° Sahgenm Ao o,

() 8%, ads odose (2) w6
7 (3) 08, 58cs e9Iodse @) e85 daren
MBEBLLTL # N




wMJ K.
A

408 Equality before law g part of

(1)  Right to Freedom ,

(3) Right to Equality (2)  Right against EXP""“atlor:medies
i 58y DBRSEg0 BAS® o3, ? (4) Rightto Constitutional Re

g; ,ﬁiiﬁjﬁ oy, A

. }51‘) orawgotf HOTHELD &° Ol

109. India is a Sovereign Socialist

country.
(1) Secular ) Democratic () Republic (4) All the above
e 8ebB %o 2.8 NEQHey RAPRagaes Ad.

(1) &8 2 gerdrgng (3) eaw”/

110. Buddhavanam, a Buddhist heritage theme park, was inaugurated recentlyat __———

!
:
I
]
1
:
»

(1) Hyderabad (2) Bhuvanagiri
(3) Nagarjunakonda (4) Sarangapur
: @550 03 T TEREY B LN DG rGodoerdd ?
| Ieesoreed 2) 2955500
(3) g ot (4) Rborrdird

111. Which state of India first implemented the Right to Information Act (RTI) ?
(1) Tamil Nadu (2) Telangana (3) Madhya Pradesh (4) Bihar

< 3508 ?
rEBATBS'D D TS JGANEET DAPTTE ), SR e BVod ?

(1) SV /z Boormr (3) s BB 4) b6

112. Who received 57th Jnanpith Award ?
(1) Nilmani Phookan Jr
(3) Damodar Mauzo
575 gvabd PO go0 (e0gd)
1) eyl Ly Bub
() orarabd a5E

) Akkitham Achuthan Namboothiri
(4) Amitav Ghosh

56 QY& ?
) wébéfw es:ﬁop& SotarHO

(4) OO PPQ

ial Policy of India launched ?

) dustr
113. When g;sg‘;iis;nées 20878 AEEHo SRS ardodocsad 5 ?
2.5"‘(5?5 o & ¥

1) 1951 (2) 1965 @ 1% ) 1981

23
34563.C/ ET LT




114,

worked for
(4) Xinhua
B0 HABHT -
@®

Danish, Siddiqui, the Pulitzer Prize winner for feature phOtOSraphy’

(1) _AFP (2) Reuters (3) TASS
ERQ 288 3 DORE warh (oare wond P ugdH

\M&. (2) oronesby B)  8.D.00.d0. (4) S HOI°

115,

116.

Identify the capital city of Rastrakutas

(1)  Badami (2) Vengi (3) Pattadakal (4) Manyakheta
O S50t Trasrd DO ?
M) oy (2 Sob (B) HessE (4) SgBe0

Select the suitable alternative to replace ‘? which completes the following series.
500 3e3 g BB KOS DYDY MEYED 7' %o 258 Baod.
2,4,7,12,19, 30, ?

B a3 2 39 3) 35 4) 45

117. Which Commission was appointed by the British Government to enquire in to India
expenditure ?
(1) Welby Commission (2) Andrews Commission
(3) Elliot Commission (4) Strachy Commission
[OGAH® PEND DA HHAIBH D DRSS oTYED BA$HEES 236000 ?
1) 38 sasS (7 @S SRS
(B) BOIHEB LRSS @) D ERS
118. The environment clearance granted by the Union Ministry of Environment is for year:
Sog Ho°gHGEs Bro@ess o B HorgSSes edooehen Dodeore Feneseend® erotwol
1) 10 @ 8 @ 5 B
119. Which of the following is an example of extrusive Igneous rock ?
(1) Coal (2) Graphite (3) Fossils (4) Basalt
&3 808 TBS° &ifes ef)) B ST O ?
1) &P 2 o8 /‘2) Aorassinen (CONENS X
120. Pointing to a photograph covered with a curtain a man said to his brother-in-law that “she

mother of my father’'s daughter”. Then the person in the photograph is related to brother-in-law
that man as '

(1) Mother-inlaw (2) Daughter-in-law (3‘)’ ilster 4)  Mother

2,& BES® 82 GoDS D HOBND STHYT® 28 DO D 2375 &° ey TN, “asB T T
Loehatotd $Q”. &3 DY DerydnS® &y $586° & HHB &5 & tfo Bozvocso

ﬂ 2) &%en (?) ReE8 );r) S8

/ 24 i
- Lo T




[ 121. ship wag deco

) Mmiggj
(1) INS Vikrant Sloned at Naval Dockyard in Mumbai.
(3) INS Rainbow () INs Parakram
S0008 35 o5 (4)  INS Gomati
8 B &% 3 800D Detrsz e omati
/a) &)-CDS.QS. :)SBQQS a Qﬁ"g‘bé?
‘B) ©.08.05. 3on§ 2 20.05.35. HoosS

() 2.5, 50

entify th i

- ;;i) B);lo ealst;tes' whose 1n.tegration with Indian union became a serious problem.
pal, Iravancore, Bikaneer (2) Hyderabad, Junagadh, Kashmir

(3) Hyderabad, Junagadh, Nawanagar ~ (4) Kashmir, Hyderabad, Mysore

ROBAHS ATVHS 6° So50mn wIe 00508 ByhoDS é;fgrossé»w (isQoH0.

/) S, &r3SSE, DehE Q) ooars, erartil, PR
() rcSorers, PG, 35566 (4) 9%&5, 205_°c50°a7°5, SR 5

~ 123. In the below series select the suitable number and letter from the alternatives to replace the two
blank spaces.

800 3ede5°® fe> Boch gred 0 85§ SaHES HOES €08, gfords DS O Kok AEONET-3
Z,X,22,20,R,P,14,12,], ___,

(1) HF 2) 86 ® HS 4) 8F
124. On which day Lok Sabha accepted the separate Telangana State Bill ?
(1) 16th February, 2014 (2) 18th March, 2014
(3) 18thFebruary, 2014 (4) 20%h February, 2014
8% 900880000 ?

HBg8 Beorrea ooy DY &5°E025
(1) 16 Head8, 2014 2) 18 ?rq} 2014
(3) 18 Hp8, 2014 /ﬂ 20 Heys8, 2014

old heritage building in Osmania University College for women

125. The recently restored 200-year-
was originally a —-—-——-—-‘ @) Nizam’s guest house
(1)  British Residency (4) Royal polo grounds

.y h ad uarters o,
(323 Mllltal;’ o..:, ;gsamvsod) Sy ggomrod® DIWEBoSLAD 200 e RoSefyorerare Hovdd
ROV &

S (ot 00®) &8 maoda,

/[) @6351 BJE) (4) oees 050G &fey® Roerso
asHo
Dexb S 0L

25 LT

TS 2550, WO (originally),
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of Akbar !
ster.

126. : .
Which of the following statements is not correct about reign

(1) Raja Todarmal, a Rajput noble became Akbar’s revenue€ mlAmm
(2) Raja Birbal, a Brahmin rose to high position and became Diwd " der of the military fOrceS.
(3)  Raja Mansingh, brother-in-law of Akbar was made the cOmm™< n 1582 by Akbar,

1 - C lli i
) _Promoulgation of a new religious philosaphy called the Din 1112

OENE 5008 Horrood & 808 TeRFRAWIETE DA HB8oN0d 5o¢ ?

(1) oresgesocss @ons &uEss VS By, 33wy 0BT D00 it
)2) ESRENES DAS E5 Ehvone ev[es DessHen wpsiarar OF° § > dAHXe '

(3) )5 55 arSRBO oS ErShoks Qg AT DADHDOB:

(1) 1582 &° "85 -a-ae (Din-I-lllahiy e Soeesis $oe7Q) @B 830D

522G,

127. Where were “Roman Coins” found in Tel

angana ? .
(1)  Nustulapur ()  Medak (3) Nalgonda (4) Adilabad
Soores® ‘B8 Trdien” 88 539 587
\/‘0 Soxperird 2 sk (3) SSoc (4) oboeh

128. In a certain code, table is ball, ball is glass, glass is chair, chair is computer, computer is pencil

pencil is book. Then according to this code language the instrument to draw figures is

(1) Pencil (2) Table (3) Computer (4) Book

2o¥ § eies®, 200 29063 2508, 2308 obs o, e¢o 063 535'3, 536‘) @063 50535"3335/ S0 56.)5 g
DANS, AS @083 HYLo. & 8 amR B0 FSpen 3D AeesSo.

}1) 25 (2)  2¢ () = Eodyrgesd (4) Dj%o
129. Chandragupta II is the son of
(1) Samudragupta and Dattadevi , (2) . Samudragupta and Kumaradevi
(3) = Samudragupta and Dhruvadevi (4) Samudragupta and Prabhavatidevi
B0t <SotHaPcdd B KHSFBs :
(1) SSnGHNE HB0s Sadd (Y SBNGDHHE 58051 HBFERS
(B)  DBGHPE 0805w (TR 4)  OB0GrHNE SrBasy LeeS BB

130. Kartarpur Sahib corridor connects Gurudwara Darbar Sahib in Pakistan witp — inInd
(1) Dera Baba Nanak shrine in Gurdaspur (2)  Golden temple in Amritsar

(3) Nankana Sahib (4) Wagah

S665rE 3B sBEE BFRSE® @i HOTYO BUNE IS gris St -~
Zeneroh.

(1) &o° eree oS5 Hr0b8o, tﬁg°5?/-3°5 (/yf FGS o, OWINESE

@) S 38rd 4) &
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131, Nikhat Jareen won 5 Goldmedal a

Tty
v

Pl

(1) Antalya ® 1 ) tthe 2020 IBS Women’s World Boxing Championship in
< key
65 502 yo 3) P 4) Tur
e ey TORaRE 2022 au(;;m: 1;1;;10 |
1) ooy .
( SO % (3)  &Feos @ &b

Black forest (3) Vosges 4)

Mt. Cotopaxi

—

e

. ” at Vemulawada ?
135, »Bhimeshwara Temple” at
Who constructed the (2)  Arikesari-l

(1) Baddega
3) Yuddhamalla] ) alncdamatiocll

“ " NS .:)8&0(3"63 ?
Sdwesres HodgoredseY (2) s 06350

M g (4 8o asnigucs
B)  Jncse3 agigoe

_ ks EgesHven A ? "
})’} SI°ATCI0SIve ) ) &5 35 o) 55?35 @) £Ipé5 EPLDD)
133. Identify the wrong pair,
(Newspaper) (Persons)
(1) AmritBazarPatrika -  Motilal Ghosh
(2) Bengalee - Surendranath Benerjee
(3) Yugantar - Arabindo Ghosh
(4) Sandhya - Brahmabandhav Upadhyay
00 s5enH50ed 8 HBoS0A.
(68sen) (s5e0)
(1) oS ereb HAE - IS R
(2) SBorrd - 8ogard B3I
)3»)' a$urroesh - 8D R
(4)  Sods - piErds edeged
134, Ukai dam is situated across which of the following rivers ?
(1) Tapi (2) Narmada (3) Kaveri (4) Chambal
& 308 36365 eseon wSEs  S68 e9¢gaS00rm DOPSESB.
1) o (2) SGHE /(}‘) s°38 (4)  <Sozyés
\_;

Hmmm
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136.  Which one of the following pairs is not correctly matched ?
(Associations) (Reformers)
(1) Atmiya Sabha - Raja Ram Mohan Roy

(2) Dharma Sabha - Prasanna Kumar Tagore
(8) Tatvabodhini Sabha - Devendranath Tagore

(4) Goodwill Fraternity - Keshava Chandrasen
&3 808 o7e3e5° DO BN 23e8 5¢sy ?
(Sogen) (Ko tex)
(1) o e C T o) B ooa
(CA e BRI - B08) HS7E oo
) 95953256@3 o2 B 530gm5 oot{ob
7 (4) (1)5363.9&)6&63 - 845 50@55

137. Which one of the pairs is not correctly matched ?

(Artist) (Dance Form)
(1)  Kunchu Kurup - Kathakali
(2) Rukmini Devi - Bharatanatyam
(3) Kelucharan Mahapatra- Manipuri
(4)  Birju Maharaj - Kathak
QB 52505083 23¢8 DG ?
(Sresgarthg ) (Sreagssm)
(1) HodH HED - 86559
(2) {3 3D - gIBS ez
) SencSES Sodstees - 0edHd
/4 DG Sosoes - 8¢8

138. In which year does “Ramji Gond’ Revolted against Nizam of Hyderabad ?
T0BF0c & Ko 165° 3eToerd daroH S;OBLor Sedrberen B ?

}}’} 1854 (2) 1855 (3) 1860 4) 1862
139. leads in sugar exports in the world.

(1) India (2) Brazil (3) Egypt (4) Thailand

588 Hefres® HHoes eoffr B4o

y/ 265 2 8= @) &= (4)  waveros

140./ In a row n number of boys are sitting facing north. A bgy X is'twenty second from the left a
another boy Y is thirty three from the right. A boy Z is third to right of X and sixth to the left of

in that row. Then n=
28 SEBS® Bxehtio Jp S n 08 wrendd ErEYTE. X ©F erend M5By Hr08 5EFdel
.gm\‘)oe')'s Y 03 2rentd) $HE& 800D S0 35056 .g%oei" GIND. Z 0 aenesy X & HEBHS Sl

505555 Y 8 DESIBNS aat5S S0 e, @ N =
P a : | 2
(1) 65 (2) 64 (7[ 6 4 63

v BRI

34563-C/ ET




_tify the duration of st
. jdenttty of the months for the ‘Kharif Cropping Season in India

14 ( October - March @ April
v — Sept pril - June
3) éJ ugg) w;)z)n?se; (4) None of the above
" g)ge P ason) &od Dg5O(duration) MHBocSod
N 8 g’ s mg (2) OS5 -emS
(3) 27 — NYPO (4) TQ;S;) SN))
7 [dentify the Stretch for v.vhich the National Waterway 1 of India (NW 1) was setup
(1) Allahabad - Haldia stretch () Sadiya - Dhubri stretch
(3) Kottapuram - Kollam stretch 4) None of the above
& 50& Toe365° g5e8 erdiagy 23e) m‘go 1 (Sééeg" ?8‘6.)5 31 5 ao&dﬁ") ;)é&oa &) é’“go

) @odterd - SOk dhte (stretch)  (2) ArBasr - D DYVED (stretch)

(1)
(3) &Y - Egro DYdea (stretch) W e
/__/ ses -
143. Gandhiji was not associated with one of the following news papers .
(1) Navajeevan (2) Satyagrahi (3) Harijan (4) Young India
&1 808 S® roBeE8 SowoiHn &2 58¢
/(/Y) 552350 2) Sergder (B) ZBaS (4) a$Hrob qo&osre
144. What is the old name of Secunderabad ?
(1) Mohalla (2) Lashkar (3) Patnam (4) Dewdi
H8omrerd dBng), ¢S DI ?
};4 SWNFOL L (2) eoxb (3) Deyo (@) BS&

145, In a certain code language if GAME =30, RAT =42, then GREAT will be equal to
2 B 23v5e5® GAME =30, RAT =42 eon@, GREAT £ D3585 wddgd.

(1) 46 () 64 /(3) 59 @) 56

6. Which one of the statements is not correct about revolutionaries of Bengal ?
(1)  The first swadeshi dacoity to raise funds was organized in Chittagong in 1906.

2) A bomb manufacturing centre was setup at Maniktala in Calcutta.
() Maniktala bomb conspiracy case accused Aurobindo Ghosh and his brother Barindra
Kumar Ghosh were arrested.

4 CR. Das was defense counsel for Aurobindo Ghosh.
BorrdS DHSS e BowoBoDSSSEE & 508 o835° O DB oS HFSSS50 S ?

Desoer HEBead Incsed $gB? S'& 1906 Drobs® AsgEroSeGod.
Soares® ‘Sredb o g"oéoée a0z SSasrd SomrR)) DTN Fa$HeESss 238 e

'Se3E ey’ o6y B BB B H00K BB RFBDE 2380 H56 2rGien @3

i

—_—

2

)
3)

—_

VADICL.
) w8806 28 B, GDY er0oHb D, @b, TR

63 |
/ET 29 - LT

k i ——TEE BN



S RN G T At L ‘
lay
Teceny

involved (
- , any involved ——
/1) Hp ®8a merger of bank and 4 non-banking finance comp

(2) : Cand HDFC bank
3 FL ang HDFC pank
(4) 'C and ICI(y bank
e Indlabulls and SB|
19}
(1) 1 A @"033856 dSo 0NN Boesy esgé Sotf K)oéw se=
5 TRENSD, & BN g0
n a @5.035.036. &S89, g0ty
- RANSY & £0.8.80.%.5, g
..... oty
4) ’

148, . :
From the §iven alternatives, select the one which is different from the other three alternatiyeg
Socs CTAN

RSO 2,463 0D SarCioe38 DHhorr eodertn &0l 2.8 DQYSRY MAPELE,

) 49 2 81 (3) 25 (4) o

149, Whicp, Qutub Shahi General 4

onated ‘Sreekurmam’ village to Lord Sreekurmanatha ?
(1) Amit Kumar )

, Ashwa Rao (3) Manikchand  (4) Raman Rao
@@d&d W, @é“’é&ﬂ"é 93053 @s{sod&o TSR TeSorr S KekdS Ao DDA 5t ?
(1) o0& H3r6

2 ooy ) SrRES0E 4) %S o
150. Identify the place where famous Jain scholar “

Rishbanatha” lived after escaping the tortu
Eastern Chalukyan King Raja Raja Narendra in T

elangana.
1) Warangal (2) Hanumakonda (3)  Patancheru (4)  Kotilingala
By LY ToFS T°230°23:5006509) 2roders Be08B éa’qexmcﬁagss 8BS DodeHes Beor
PANSTTARY Q) Hfocsod. '
(1) S8otses

Q)  SoEhe /(34 STIBHH (1) EBorre

151. Where is the International Court of Justice located ?

(1) NewYorkeity (2 Hague () Geneva (4) Hyderabad
voég‘étﬁ) U"'So.'bg"?bo Q8 God ?
(1) drgosrb) 28 (2) A (}; SDar )  rcoers
i ing i f India ?
152. Which of the following is the cold desert o
(1) Thar Desert (2) Lefdakh Desert
(3) Rann of Kutch Desert (4) Jaisalmer Desert
O3B0’ 380 0 6 Zod TS D6 ?
(1) &6 &0 )25 0&d Ao
3) oo e85 §5 o6 (4) g;bej@ﬁ A0

34563-C/ ET o T
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Wllich of the following is in the Is]
and

3 : 3
15 1) Gul}?dy Nationa] Park of Andaman & Nicobar ?
©) - ég:;}a sandhi Marine Natio (2) Kaziranga National Park
B80 > S8 Lot oBaty :3221 g (4) Bison National Park
(1) Aol &80 errgsss &5 B, Bgbisnes’ eod ?
el (2) Badorr edoD g5 (P ark)

) S0TTTY Trod 3%
) erdaf BTGOS0 (Park) (4) @65 erdAH &g S HEBN (Park)

bington M ; .
) Babington Macaulay issued hjg famous minute on En glish Education on ond February 1835.

3) The famous Woods Dj
3 Education in India. Dispatch of 1854 was another important step in the development of

In 1864 Hunt : _ i
# India. er Committee was appointed to review the growth of Higher Education in

2;"6?58%066 EBOQ :.)Cssgb ?608.)0@06350955(5& &3 SO& éééééﬁejés b@ 58 @0).)&’)5 Sod) ?

(1) 1813 &80 Senes® g drarat v s
Ee00000520ET°O0. 20 &36HRE FHIven HBaK FTPDHY

erBDoffS F5°8 esoff DD HET B0y D 2, 1835 5 HEB0BS.
1854 ~°&3 es&) Hedw (Woods Dispatch) arsesd#oss® esoff DSy DB Soeodod 88
Soe.

&) DSy D Deforr ESIrheh R 503DocsES 1864 &° Groerb Ee3D Doyt SoHESD

/9? 238008).

/ . .
1%. Who is the first woman combat pilot in Indian Army ?

—_
3°)
~—

(1) Captain Abhilasha Barak (2) Captain Shashikala
(3) Captain Vinodini Sharma (4) Captain Vir Bala
ool ?3-‘63066 Bs35e3 Sodree T (combat) 5 DS ?
(1) S eperr 2os /2} 3RS 438
() 38 2B Y @) S Aberer
——
1%. Which one of the following is 10t correctly matched ;4 e
(1) Muchiri - Port of Chera Kingdom‘ @ a : urc' - C. GPHQI of Pandya Kingdom
®) Korkai - Capital of Chera Kingdom () Uraiyur = &apital of carly Cholas
& So& “ Oso;{)e)_)éoﬁ 23¢? 3
M iy e st (2) B - RGO ovagy
T Sl (1) @68~ SO Sehes gepyrg,

B) oo - B orasgsn OETY

. T

34563~C/ET



” : -5 ” ?
: : a’s revolt as “Robin-hood-like” event
157. Who described Sarvai Papann ®  TrvindMunroe

(1) Barbara & Thomas MetCal (4) Sherwani & Yazdani
@) Richarg; iﬁiﬁf‘m - G S BERHE T HPoDS Tt DSEs ?
HOP0N J°D
> o & D BT (2) =OSS & HF
(1) oY @) Dovged & oz

G onbye R

”Dakshinapatapathi” was title of Satavahana King

(2) Pulomavi II
Yagna sree satakarni

158. .
1) Satakarni .
ES; Gautamiputra Satakarni (4)
" a9 DS EOS FSTES orer

" SRETDEDD ;
(1) Socse3 S5 (2) BolS HEHED
(B) TS FSEY /A) o$ogeR B850

159. Ai, Az, As, Ag, As, As, A7 and As are sitting around a circular table facing the direction opposite to
that of the Centre. As is fourth to the left of A2 and second to the right of As. A1 is third to the left
of A3, who is not an immediate neighbour of A¢. A7 is second to the left of A1. A4 is second to the

right of As. The person fifth to the left of Ag is
A1, Az, Az, Ag, As, As, A7 3500050 As 0 258 (00 208 e SoloH HgBTE AFD eddngorr

EENTAD. Az H IEHJHE RS FH0S® As dameh. HB0H0 DHEZDHS BotsS IS A
ST, Az £ IESTS SATES FHoS® A1 ety S0G% As 6 DT ey AEDHIE As S,
A1 O DEBTHS Botkd FHoS® A7 BIRD. As 6 HE FDS BoiS FiSoS® Ay s, As ©
DESFNS aNES JoSoS® &y Hg8

1) A4 }2) Az @) As @ As

160. What is not a characteristic of Indian Economy ?
(1) Low per capita income (2) Excessive dependence on Agriculture
(3) High rate of population growth  (4) High per capita income
& 08 SNS* g6 gy SFDY B, ©Eao SO A ?
(1) SN Eed8 esmrofHro (2) SgPIJ0H0 D DENY ST eEEEHEE0
/(2) 2BIP° DHDE P Gotitio (4) QY Sodd erraso

161. Identify the Buddhist work which referred about “ASMAKA” Janapada ?

(1) Vinaya Pitaka (2) Sutta Pitaka
(3) AbhiDhamma Pitaka (4) Anguttara Nikaya
" (ASMAKA)” 238560 580D BID0DS T ES5S DB ?
DISH HSE (2) Dok HBE
B) DESY HSE (4) otHess JEAH

34563-C/ ET 32 T




' » 7 I A——
TSR R T
1d entify the wrop

(Teachers) i
Purana Kagg, a (Seth ¢ !

8 Pakuda Katyayana ) Scepticsat follow diferent pathe)
Makkhall Gosala 3 nUVadins

(4) Ajita Kesakampy;. " Ajivikag

$05°Q (Wrong) asefs, HBociry, Charvak,

(ﬁ:d:aﬁ)m)
(1) QoEes 5{8&’,))@ i ‘(,@?6(); 53‘5?-‘»313&» 00003 Bfew)
HHE Seergatyg R U
/g) 2050 e O K0en

)
@) B E%ns | R0

BPOReen
63 Three different views of 4 cub

: below.
j e having the labels A, B, C, D, E, F on its faces are g1ven
If this cube is unfolded, it looks Jike

A #SonSoen §odd
A, B/ C, DI E; F ) x a)éé &)&)men fo! o, B0 wéj D@é&
{BGRERD. &8 S80S, QEAVS e ® 28 0550 i

SeHOE) ol [OE
| ‘

B B

— o =
E A B| al|bD

B | A B i c
c c E 2
D F F D E C A

S o ® @

Identify the Velama ruler who has shifted the capital city from a Amanagallu to Rachakonda.
64. Identify the

2) Betha Nayaka
(1) Singama II:II ay:tg*% g4g Kumara Singama Nayaka
(3) Anapota Nayaka-

SeuTrarad (hocod.
’eﬁébéﬁg)).)’ B[00 oreSE0 S O

B oS
(1) Soocse3 Dotfeds TOHEHE @ GBS Dol AL
(3)  Bocses oS TraHHE b

' 7
hich position 7 .
65. p K. Sinha recent]y stepped down from W2) Principal Advisor to Prime Minister

(1)  Economic Affairs Secretary (4) NITI Aayog CEO

. .
(3) Education Secretary 4508 TR 3 L

A 8 Sogy 36
. &, N gedde ——7;5—6,3 @ BT 2:?(:}30 S RO,
Seore S°OY A e
/H) WO $g5T° @

3

B) oo Spleidale) ]

863/ B



T Y e AT O S o i o ‘
are related in some way. One entity and . i

166. Two entities are gi to the left of :: and these
. are given to the : e :
given to the right of :: . Select a suitable alternative to replace ?'so as to keep the analogy. ty

OHDS & & IEHSHS e DR DosogreR)) EOHS Botd HKesgsinen (entities? 3‘53&%‘:&
200050 1 & HAJDHS 2 Sefgin (entity) a¥ 7 S0. & 50230GR)) SPRPGED ‘7 Ky aty
RSO Dok PSR 25 S3aoc.

CIL:BIG:: DAY:?
(1) BAT 2) CAT (3) EAT /44) PAY
167. Which one of the following is the largest site of Indus valley (Harappa) civilizat'ion ?
(1) Mohenjo-Daro (2) Harappa (3) Dholavira 4) Kahb;mgan
300858506 ABES(ET))H $om0fod & (Bod TES°® PO DB°00008 ?
/{) JwaroSors® (2) oA B) &b (4) SO0
;68. Which of the following is the largest plateau in India ?
(1) Malwa plateau (2) Vindhyachal plateau
(3) Deccan plateau (4) Chota Nagpur plateau
&3 300 TBS° rOIBIINS’ 0 DY BEFT 6 ?
(1)  dror 68D 2)  DogEgSe HEEFL
/) 55,5 BT @) Ser Thrd DEEFL

169.  The Luni river, which originates in the pushkar valley of the Aravalli range, ends in which amon
the following ? (

(1) Asa tributary to Sabarmati (2) Rann of Kﬁtch
(3) Arabian sea (4) Mt Abu
e30°59 Fed &5 Y6 S5°0HE° 230D end 56 & 800 Toe365° SIS KhodD (ends) 238ty ?
DRAS D5 (2 6 esHES
B) e3DHAHS SN IAR T (4) 306 e

170. ;‘»elect the fuitable alternative to replace the blank space to complete the following series
800 FB 5 BohzS 3570 ) BB DKo 238 Bcod, '

BI9N, E14P, K7T, N5V

(1) HIOR ) J10S @ Iop /@) . H9R
171. Elysee Peflace is the official residence of the President of ,

(1)  United Kingdom (2) Srilanka

() ) Frar;ce (4) Singapore

DD FBH 93 B4 igHé @fso Do,

(1)  IEE 80beSy /z) B

@) & (4)  Botisrs

34563-C / ET |
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172. Select the g

. 5 is there in
Uitable analogy @
o (S lc oy 1 as to
BIOSS 7 g+ mbers giyo left tr:)j,ce m1r11l: the following so @ 3033 HBGH QNS
DERER Y 43 o S

Sooa D B0 Koary KuBeE® e AETTF
:149:56:.5. 40 o&.

(3) 8:16:24 ()

amsheed ?

Qutut, Was murdered in the year 1543 CE by his own sO J
3) Muhamm,q Quli- bl (2)  Ibrahim - Quli ‘
8.4.1543, 5% ) Sekyeps (4)  Taneshah

= 57
(1) 08 60 g T 55 K508 G828 ss08y 30G° ey BOHDET

BF- 6.
/Q) DB - gy W () aplro-wd

4) ey
174. According to ] N
"Kohinoor Diamoﬁg?;gz;ci’}?ew of scholars in which diamond mine does the World fa
(1) Kollur '

il sl 12 () Samarlakota 3
55015 VA0S o g o

1) Sexb

Vajrakarur (4) Kolar
' $zp0 6AS® 6080650 Hxrie GG DE0 ?

@) Aesoyse (3) Sesssrb /w{ b

175. On which line does the date change by exactly one day when it is crossed ?
(I) Equator (2) Prime meridian

(4) Tropic of cancer
) 3S° B8 20 PGB 28 BBBW ArGre8r06 ?

—~

(3) International Date Line

) eledogig S 2 29D DOEAHS
7 () wosgedodh &S S 4) 88 B

i be filled in the blank space the f ] e
176. The word (may not have any meaning) to Nk space in the ollowing series is
& 208 ggg(esf god .gﬁéo:‘fn 250 BaHHdAS DHeSo (eago &0ts55080 Efd))

A,CD,GHI, ___, UVWXY, EFGHIJ

721» LMNO () KLMN (8):+-NOPQ 4 MNoOp
: : i dia launched the MGNREGA ?
177. Which Pr1me(1;/lmcllsl:ier of In e
(I) Rajeev Gan

(4) Deve Gowda

(3) Man Mohan Singh oD 1FO8 HI 08 N8 ?

. % grdo
. 23.DS.e95.88.8 @) wodb oS 3w

oo S o (@) dI°s

35

T
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B
178. let A=B#C=D<E<F Which of the following is correct ?
. et A= = .

DO deso ?
_éaéo&a":)és")a
A=B#C=D < E < F 0800 @ A>C=D>B 91 D>B= AL
S axc @ D>P ' 3

lll)(.'l ()f tn bl car be 1C Cntl g ven e
17 9. [hC nurt ang es t]l ".

P
805 QYO DS 5008 (H8oSHONS H2$H23508 DoV
O

/ 20
};,) 12 2 16 3) 17 4)

i i verei Power i
180. Identify the Inscription of Kakatiyas which describes the declaration of So gn n th
d year 1163 CE by Rudradeva. . : :
(1) Anumakonda Thousand Temple Pillar epigrap
(2) Bayyam Tank epigraph
(3) Warangal fort epigraph
(4) Srisailam epigraph

% 1163 S Sol| D8 BodS SEHAHO HOESBHE D FOSo wegoe T5°0 DG BTRSE S8
SBOAHIHE0D.

(1) e95055080E SonJogee HE F0So
(2)  =paeglo BKHD FRS0

) SSorseS 5% abS0
4 B3eo 35S0

181. Which one of the language-culture groups represent the oldest speech family of India ?
(1) Aryan (2) Dravidian (3) Austric (4) Sino-Tibeten
PESEBF0e5® DS HIPGYBE SO5ENS50e3 ey BoYYB (157 DB JPAIIIS ?

(1) es63S 2 SDEADHS (3) es9E /(4) DS-e323¢>8
182. Which among the following is India’s deepest landlocked and protected port ?
(1) Chennai (2) Kandla (3) Paradeep (4) Vishakhapatnam
&2 §oB ToBS® 2ESBED S°BS AP 500D K HBAED SESDS £ocE3D DA ?
/)} 33 (2) sroge (B) DS (4) DIJenSwo
183. Where is Sardar Vallabhbhai Patel National Police Academy located ?
(1) Mussoorie (2) Nagpur (3) Hyderabad (4) Chandigarh
P Do DEIS DS DO s ) ¢ &od ?
(1) 206 @) b6 ﬁx T Sorerd (4) Wocns
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184. The group of seyey,

(G7) held its 47th summit in 4)
Q) ptand i 3) Oslo (
23-7 oot 4; S Sty Lam\s/\’%sah;r;gton ©) 5
/ ) St @ a>ofS @) &g

185. Match the Ligg _

Cuba

§5°§83°

List - | Twith List-II and select the correct answer.
(Texts) List - II
(a) Kes.avasuta 0 %Langtlniages)
) Achpurana i Tgr;ngl?
(©) I?urges_hnandini (i) Marathi
(d)g)@_alngah Sabdam, (iv) Kannada
" wa&ﬁ&@' 11 " 206502 153 s irisiser Gofiosin
(HotStmey) Z;?:zi)n
b e () Bomb
(b) 39&53)0"830 o
1 HBF50
§ e b
(d)  dvocrd F280 (v) €9
The correct answer ig / %8 DO BEFESE
(a) (b) (¢ (d)
B N N O
@ @) (v (i)
(3  (iv) M () )
@ ) @) @ g

186. ‘gelect the one from the followin

g alternatives which is different from the other three alternatives,
08 B DYNSOS® 2,58 NAGK Dr&oe3d HGore SR G0d 2.8 DS IYELE.
(1) Fly (2 Walk

) Run ) Static
187. Inacode language ‘fortune favour the brave’ is written as ‘Se 3e 67 7¢’ ;

‘Ram is brave leader’ is written as ‘3m 2s 5e 6d’;
"Leader favour the follower is written as ‘8¢ 3e 6r 6d’;
‘favour the Ram’ is written as ‘3m 3e 6r'.

In the same language ‘Ram is fortune le’aderl’ is coded as:

28 8% eie5® ‘fortune favour the brave’ &S ‘Se 3e 6r 7¢’ mo T,
‘Ram is brave leader’ & ‘3m 2s 5e 6d’ rr §_;"§°da.
‘leader favour the follower’ & “8r 3e 6r 6d’ oo Qapii,
favour the Ram & ‘3m 3e 6r' ° FrArth. 93 8% gygess

“Ram is fortune leader” G»¢), §G &rd:

3e3 6r8r3e g
(1) 6d 7e 25 3m (2) 6r 7e 3e3m //63? € 6d (4) 6d 7e 3m 8r
: Union Territories is home tot . -
188. Which of the following S{:ates e (2)  Uttar Pradesh It Panja range ?

(1) Arunachal Prades  irosme 8 Sohmiy
(3) Uttarakhand $3565° T Sos D o o Do -

308 °836° 2‘?;%3? ) «ds HAT ;
(1) estHesecso 2

) sy SoBay g, 5
3) a,e_gmaboé /4 K

v//f
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1 Chronological order

189. Arrange the following it
(a) Second Carnatic war

Battle of Buxar .
(¢) Third Anglo-MyS(;rc W;Ill
i P10- the war

(d) First Anglo I:Jiagi 2

808 03D S g
() Dot Seos AR
©) wHboaE
(©) Sarecéd esoff -
S (a), (b), (©) (d)
1) (@) b
@ @O
3
}(”)‘ (), @, ) (@)

/ciddeshwara Temple’ centered at Hanumakonda was constructed b
1%0. 'Iihe faél;c;gdsefa f : (2) ProlaRajal 4

(1) : (4) Achitendra

() s Bhg DS weck’ Aoy 36 ?

) Ewde EEBHE 2) Sesel feoeer
/g) &é&ag) 4) &Dt:)éoé.)(:ﬁb
191,  Who among the following persons wrote “Nitisara” in Sanskrit?
(1) KingRudradeva (2) Jayapa Senani
(3) Manavalli Ramakrishna (4)  None of the above
&2 308 T0S° D5 “NBIY” K Koy B0e° EDozsd ?
(1) ore HEBH (2) 205D DD
B) S35 TN (@) DI s%H
192, (‘;\;}ud;( state is the largest producer of Chilli in India ?
arnataka (2) Gujarat (3) Kerala 4) A
g;des?éoes‘ Q550 EgHESRM Bodod T30 A ? & fichra Pradesh
e @t ) B @) ol 538

193. A oi
- I}:gtseirsltit;rﬁdats ;/pomt A and travelled 13 meters towards North-East and then travelled
he G d_st outh and from there again travelled 13 meters towards North-East. From there
il A istance of .10 meters towards West and reached the final position B. Then the
D Sotth ;011;_1 B and distance of B from A are respectively
meters (2) North and 12 meters

(3)  South-East and 15 meter
S
26 508 A (4) North-West and 15 meters
&w&éw 5 :ac;&;)en;a Bamg By &° 13 Doeath Posedod w8 E0d 12 &K Sieso JHH I9)
S0 AEE” 13 Dty Hasredoaedy. @A Srod HESS B 10 DoersHd> Hosredod

(5930 B
g,o&S & BHHTNE. B S0 A K tfo BF 51805 A, B © S065g Sroren SR
/(:) ££90 300050 12 Qoeatsy Q) &eso 005 12 Desth
(3)  eoho 6aw 15 ey ) TaHi5go 200a%0 15 oeoth

34563-C /ET |
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s Ka
ry Camp i;‘rmsganigar A

angana Region became

2)  Kalyani Vemulawada % 2roB30
ST ( yam 3) J god
L xmsai@ T7008" Bo0meas™ B grodo g pRS oo™ 460

(2)  Sorges (3) Séxnv;""j//(g///

195. The tota] sanctioned strength of the Rajya Si{ i»l1.n i~ members:
Oresg def cinég, .:noeamgé 9 .‘6255&3 oy
v) //
196. V¥hiCh of the following is a finer sedimentary nmaterial ? Cla
el (2) Sand (3) Slate e
00 Se36° Hgeho wisdn D0 D6 2 ’
1) oss Q) g 3) %6 / ) moSS

a prominent Milita

197. India’s r‘a’u:k in the World Competitiveness Index 2022 is
2022 &° HHoes eIy Kt s vo Bo¥) oegoth

1) 43 ) 37 39
po sk
198. The First attempt of entering Indian t[érritory was made in 711 A.D. by the Arabs.
Who was the Caliph at

that time ?
(1)  Al-Hajaj (2)  Al-Walid (3) Al-Bakar (4) Al-Qadir
§ 4. 711 &° eri5esdio D S0 BB Soatre 26A0A. 0N HHJ° DS ?
(1) eo&-SGrers (2 oS08 /@ &6 (4) eS-32886
199. How many schedules are there in the Indian Constitution ?
ar0es Trargotiod® AR Aekrgey S0 ?
/z) 12 @ 10 @ 1u @ 9

200. Which of the following is not a function of Parliament ?
(1)  Distribution of revenues between the Union and the States A
(2) Distribution of Legislative powers
(3) Disputes relating to Water
(4) Coordination between States
&3 800 TS® DO JrPIrotx EBu) Y 5o ?
(1) So-orgrge Sueg estrosrR) Howsto
) RS efseore Hoded
(3) = darwren
(4) orarge Sueig Hodgado
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